OFFICE OF THE COUNCILLORS OF

Email: - raghunathpur.ulb@gmail.com

RAGHUNATHPUR MUNICIPALITY Tarani Bauri P.O. – Raghunathpur, Dist-Purulia

Chairman

Ref-RM/Civil/DEV/NIT/ 1015

Date-20.12.2022

NOTICE INVITING TENDER

S I. N o	Name of Work	Time of Completion	Estimated Amount put to Tender	Earnest Money
		2	3	4
1 A	Supplying spreading and consolidating morum and stone dust, chilchalling Road flanks, clearing compound premises of shrubs, removing conservancy garbage and removing of rubbish earth at Joychandi Pahar Paryatan Mela Prangan (Central) at Ward No-12 under Raghunathpur Municipality.	10 Days	Rs- 99,780/-	Rs. 2,000/-
1 B	Supplying spreading and consolidating morum and stone dust, chilchalling Road flanks, clearing compound premises of shrubs, removing conservancy garbage and removing of rubbish earth at Joychandi Pahar Paryatan Mela Prangan (Northern) at Ward No-12 under Raghunathpur Municipality.	10 Days	Rs- 99,780/-	Rs. 2,000/-
1 C	Supplying spreading and consolidating morum and stone dust, chilchalling Road flanks, clearing compound premises of shrubs, removing conservancy garbage and removing of rubbish earth at Joychandi Pahar Paryatan Mela Prangan (Southern) at Ward No-12 under Raghunathpur Municipality.	10 Days	Rs- 99,780/-	Rs. 2,000/-

1 D	Supplying spreading and consolidating morum and stone dust, chilchalling Road flanks, clearing compound premises of shrubs, removing conservancy garbage and removing of rubbish earth at Joychandi Pahar Paryatan Mela Prangan (Eastern) at Ward No-12 under Raghunathpur Municipality.	10 Days	Rs- 99,780/-	Rs. 2,000/-
1 E	Supplying spreading and consolidating morum and stone dust, chilchalling Road flanks, clearing compound premises of shrubs, removing conservancy garbage and removing of rubbish earth at Joychandi Pahar Paryatan Mela Prangan (Western) at Ward No-12 under Raghunathpur Municipality.	10 Days	Rs- 99,780/-	Rs. 2,000/-

Sealed tender in specified printed Tender Forms are invited by The Chairman, Raghunathpur Municipality, Raghunathpur, Purulia for the following work(s) from the eligible contractors as per particulars below and will be received by him up-to the time specified herein at his office.

2. Name & Address of the Engineer: - Assistant Engineer, Raghunathpur Municipality, Raghunathpur, Purulia.

3. Eligibility to Purchase and Submit tenders: - Working contractors of M.E.Dte. Enlisted contractor of Municipalities and other Departments of specified classes, West Bengal and reliable bona-fide resourceful outsiders with the submission of following documents.

(A) For all categories: i) Clearance certificate of Professional Tax & GST valid upto-date of opening of the tender, Form 16 for IT return & PAN Card. ii) Experience in execution of similar nature of works at least 40% value of single work within last 5 (Five) years, supported by completion certificates /payment certificate (All are in Xerox copies (duly attested) along with the original should be enclose during application.

(B) For Partnership Firm: i) All items of 3(A) are applicable. ii) Attested copy of

partnership deed.

- (C) For Registered Co-operative Societies: i) All items of 3(A) is applicable ii) Registration Papers & current Audit Reports iii) Copy of bye-law iv) Declaration stating number of unemployed members. v) No Objection Certificate for A.R.C.S.
- 4. Last date and time of receipt of application seeking permission of purchasing tender documents:-27/12/2022 up to 12:30 P.M.(I.S.T.), applications along with the aforesaid papers as mentioned in 6. in duplicate for the respective work at Technical section of Raghunathpur Municipality.

5. Last date & time of sale of tender documents: 27/12/2022 up to 2:00 P.M.(I.S.T.) to be purchased from Technical section of Raghunathpur Municipality.

6. Last date & time of venue of Dropping tender papers: -27/12/2022 up to 5:00 P.M.(I.S.T.) at Technical .section of Raghunathpur Municipality.

Date & time of opening tender documents: -28/12/2022 after 12:30 P.M.(I.S.T.) at the rechnical section of Raghunathpur Municipality.

8. Printed form in which tender is to be submitted: Municipal Tender Form.

9. Price for per set of tender documents:-Tender documents can be obtained on cash payment or Bank Draft in favour of The Chairman, Raghunathpur Municipality of non refundable fee

of Rs 500/- from Technical Section of Raghunathpur Municipality office.

10.. Earnest money:-Earnest money generally 2% (Rounded Off) of the estimated amount and to be paid in favour of The Chairman, Raghunathpur Municipality in the form of Banker Cheque/Bank Draft/Pay Order drawn on any nationalized Bank within West Bengal and will be accepted on condition that collection charge (Bank charge) of draft if required are to be paid by successful tenderer and must accompany with the tender, without which the tender will be subsequently rejected.

11. Location from where the Deptt. materials are to be issued: Raghunathpur Municipal

Godown if any.----- Municipality Godown.

12. Application along with the aforesaid papers will be referred to the Office of The Raghunathpur Municipality, Assistant Engineer, Raghunathpur Municipality, Raghunathpur, Purulia. for his examination and recommendation, on the basis of which tender paper will be issued to the qualified applicants. In absence of the any of these documents the application will not be considered for permission.

13. Tenders in sealed cover containing all the tender documents must be superscripted with the name of the work(with sl. no.) and tender notice no. Tenders will be opened in presence of the participants or authorized representatives who intend to be present at the time

of opening.

14. In case of bundh, holiday etc. falls on the schedule date as enumerated above and if the Office of the Raghunathpur Municipality happens to be closed on the date of receiving and opening tenders, these will be received and opened on the next working day at the same time & venue without any further notice. Intending tenderers shall apply and obtain tender papers well in advance to avoid in any difficulties due to possible absence from the Head quarters of the concerned officers.

15. Tender documents and other relevant particulars may be seen by the intending tenderers during office hours from The Technical section of the Raghunathpur Municipality. Assistant Engineer, Raghunathpur Municipality, Raghunathpur, Purulia. Contractor shall be presumed to

have inspected the site of works before submission of tender.

16. Recovery of 1% (one percent) Labour Welfare Cess of the Gross Value of bills to be

made as per Regulation of Employment & Conditions of Service Act. 1996.

The contractor whose tender is accepted will be required to furnish security deposit for due fulfilment of his amounting to 10% (ten per cent) of the total value of work actually done. The earnest money shall be converted as part security, the balance S.D. will be deducted from each

progressive bill. If any tenderer withdraw his tender before its acceptance or refusal within 90 (ninety) days from the date of opening of tender, without giving any satisfactory reasons, he shall be disqualified for submitting any tender to this Municipality in for a minimum period of one year. The corresponding earnest money also is forfeited.

16. Tender submitted in any form other than the tender documents issued in favour of the tenderers are liable to be rejected. Tender documents with missing pages or schedule items will be disqualified and it will be the tenderers responsibility to point out, any short coming in

cuments furnished well before the date of submission for needful action, if any by the nairman, Raghunathpur Municipality. Conditional tender will be nullified by the tender accepting authority. All corrections in the tender are to be signed and dated by contractors. Illegible, irregular, incomplete tenders are liable to reject. Intending tenderer must declare if there is any other firm or firms having common or identical interests with them. The power of attorney which may be characterized as agency agreement will not be accepted without specific order of the Govt.

The Chairman, Raghunathpur Municipality reserves the right to accept or reject any or all

tenders without assigning any reasons thereof.

Sd/- Illegible

Raghunathpur Municipality

No.: RM/Civil/DEV/NIT/

Copy forwarded for information and wide publicity through Notice Board to:-

Executive Officer, Raghunathpur Municipality. 1.

Finance Officer, Raghunathpur Municipality. 2.

Assistant Engineer, Raghunathpur Municipality, 3.

Head Clerk, Raghunathpur Municipality. 4.

Some subhra Chowdhury, IT. Coordinator, Raghunathpur Municipality

THE NOTICE BOARD.

The Respective File.

Chairman

Raghunathpur Municipality

Chairman Raghunathpur Municipality Dist.-Purulia

Supplying spreading and consolidating moorum and stone dust, chilchalling Riad flanks, clearing compound premises of shurbs, removing conservacncy garbageand removing of rubish earth at Joychandi Pahar Puryatan Mela Prangan (Central) at Ward No- 12 under Raghunathpur Municipality.

SI. No	Item and Description	Qnt.	Unit	Rate (Rs.)	Amount (Rs.)
1.	Supplying spreading and consolidating moorum to a depth of 75 mm at desire density Etc	31.500	Cum	868.88	27369.72
2.	Supplying spreading and consolidating stone dust to a depth of 75 mm at desire density Etc	31.500	Cum	1021.98	32192.37
3.	Dressing and chilchalling Rocal flanks including cutting and filling with earth up to 150 mm average thickness finished with outward cross-grade of 1 in 30.	150.000	Sqm	12.20	1830.00
4.	Clearing compound premises of shurbs, plants, jungles etc. by cutting and removing as directed (Specific permission of Engineer-in-Charge prior to execution will be necessary). (Payment to be made on area cleared)	200.000	Sqm	11.00	2200.00
5.	Cleaning and removing conservancy garbage mixed with rubbish & other filthy materials from the road side flank, drain and compound including cutting, loading, unloading to and from truck or cart by Mathor labour & removing the same to any distance.	40.000	Cum	56.62	2264.80
6.	Extra over the corresponding item of earth work for removing semi liquid mud or slushy earth by iron pans, buckets etc.	30.000	Cum	266.00	7980.00
7.	Removal of rubbish, earth etc. from the working site and disposal of the same beyond the compound, in conformity with the Municipal / Corporation Rules for such disposal, loading into truck and cleaning the site in all respect as per direction of Engineer in charge	45.000	Cum	166.00	7470.00
				Sub-Total Rs	81306.89
-			Add GS	ST @ 18 % R.s	14635.24
Sub-Total Rs. Add Cess @ 1% R.s. Add Contingency @ 3% R.s.					
				Total R	4
-				Say R	99780.00

Estimated By

ASSISTANT ENGINEER
RAGHUNATHPUR MUNICIPALITY

tant Engineer

taghunathpur, Purulia

OHAIRMAN RAGHUNATHPUR MUNICIPALITY

Approved B

Chairman Raghungti pur Municipality Dist.- Purulia

Supplying spreading and consolidating moorum and stone dust, chilchalling Riad flanks, clearing compound premises of shurbs, removing plying spreading and consolidating mooram and stone dust, chilchaiding Rua Jianks, clearing compound premises of snaros, remot conservacing garbageand removing of rubish earth at Joychandi Pahar Paryatan Mela Prangan (Western) at Ward No- 12 under

cons	servi	reading and consolidating moorum and a Joychandi Pahar Paryutan . Raghunathpur Municipality.	Qnt.	Unit	Rate	e (Rs.)	Amount (
Vo		Item and Description	31.500	Cum	8	868.88	27.	369.72	
	Supplying spreading and consolidating moorum to a depth of 75 mm at desire density Etc Supplying spreading and consolidating stone dust to a depth of 75 mm at				+,	021.98	32	192.37	
69			31.500	Cum	+				
2.	Jan	Supplying spreading discrete desire density Etc Dressing and chilchalling Road flanks including cutting and filling with Dressing and chilchalling Road flanks including cutting and filling with earth up to 150 mm average thickness finished with outward cross-grade of		Sqm		12.20	1830.00		
3.	Di			+	+	_	+-		
3.	1	in 30.	200.000	Sqn	,	11.00		2200.00	
4.	C	removing as directed (Special Report of the made on a red citizent of the execution will be necessary). (Payment to be made on a red citizent of the execution will be necessary). (Payment to be made on a red citizent of the execution of the made on a red citizent of the execution of the executi		-	_		+		
4.	le			Cu	m	56.62		2264.80	
5.				Cu		4			
				0 0	um	266.00		7980.00	
	6.	Extra over the corresponding item of earth work for removing semi liquid mud or slushy earth by iron pans, buckets etc.							
-		from the working site and disposal of the same		i.000 Cı		166.0	00	7470.0	
	beyond the compound into truck and cleaning the site in an				_	Sub-Total Rs.		81306.	
1		for such disposal, totaling in charge per direction of Engineer in charge	Add GST @ 18 % R.s.				14635.		
1						Sub-To	tal Rs.	95942	
1					Add	Cess @ 1	% R.s.	959	
			-	Add Contingency @ 3% R.s. Total Rs. Say Rs.				2878 9977	
1								9977	
							Suy Iu.		

Estimated By

ASSISTANT ENGINEER RAGHUNATHPUR MUNICIPALITY

and Engineer conunathpur Municipality Raghunathpur, Purulia

Approved By

CHAIRMAN RAGHUNATHPUR MUNICIPALITY

Chairman Raghunati pur Municipality Dist. Purulia

Supplying spreading and consolidating moorum and stone dust, chilchalling Riad flanks, clearing compound premises of shurbs, removing psying spreading and consomitating moorum and stone dast, chilchulling mad judies, clearing compound premises of shuros, remo conservacing garbageand removing of rubish earth at Joychandi Pahar Paryatan Mela Prangan (Eastern) at Ward No- 12 under

SL N	Raghunathpur Municipa Item and Description	1	7		unaer							
1.	Supplying spreading and consolidating moorum to a depth of 75 mm at desire density Etc	Qut	Uni	Rate (Rs.)	Amount (I							
2.		31.500	Cum	868.88	27369							
	Supplying spreading and consolidating stone dust to a depth of 75 mm at desire density Etc	31.500	Cum		2730							
<i>3</i> ,	Dressing and chilchalling Road flanks including cutting and filling with earth up to 150 mm average thickness finished with outward cross-grade of		Cum	1021.98	32192							
	in 50.	150.000	Sqm	12.20	1830							
4.	Clearing compound premises of shurbs, plants, jungles etc. by cutting and removing as directed (Specific permission of Engineer-in-Charge prior to execution will be necessary). (Payment to be made on area.		+		1050							
1	Cleaning and remain	200,000	Sqm	11.00	2200.0							
	Cleaning and removing conservancy garbage mixed with rubbish & other cutting, loading, unloading to and from truck or cart by Mathor labour & emoving the same to any distance.	40.000	Cum	56.62	2264.6							
5. E.	xtra over the corresponding item of earth work for removing semi liquid ud or slushy earth by iron pans, buckets etc.				2264.8							
Re	emoval of milking	30.000	30.000	30.000	30.000	30.000	30.000	Cum	Cum	Cum	266.00	7980.00
be for per	moval of rubbish,earth etc. from the working site and disposal of the same yond the compound, in conformity with the Municipal / Corporation Rules such disposal, loading into truck and cleaning the site in all respect as direction of Engineer in charge	45.000	Cum	166.00	7470.00							
		Sub-Total Rs.										
	Add GST @ 18 % R.s. Sub-Total Rs.											
	Add Cess @ 1% R.s.		@ 1% R.s.	95942.13 959.42								
	Add Contingency @ 3% R.s.				2878.26							
				Total Rs.	99779.82							
				Say Rs.	99780.00							

Estimated By

ASSISTANT ENGINEER RAGHUNATHPUR MUNICIPALITY

usis and Engineer · Imatopur Municipality o aşhunadışar, Purulla

Approved By

CHAIRMAN RAGHUNATHPUR MUNICIPALITY

Chairman Raghanau.pur Municipality Dist.- Purulia

Supplying spreading and consolidating moorum and stone dust, chilchalling Riad flanks, clearing compound premises of shurbs, removing conservacncy garbageand removing of rubish earth at Joychandi Pahar Paryatan Mela Prangan (Southern) at Ward No- 12 under Raghunathpur Municipality.

I. No	Item and Description	Qnt.	Unit	Rate (Rs.)	Amount (Rs.)
1.	Supplying spreading and consolidating moorum to a depth of 75 mm at desire density Etc	31.500	Cum	868.88	27369.72
2.	Supplying spreading and consolidating stone dust to a depth of 75 mm at desire density Etc	31.500	Cum	1021.98	32192.37
3.	Dressing and chilchalling Road flanks including cutting and filling with earth up to 150 mm average thickness finished with outward cross-grade of 1 in 30.	150.000	Sqm	12.20	1830.00
4.	Clearing compound premises of shurbs, plants, jungles etc. by cutting and removing as directed (Specific permission of Engineer-in-Charge prior to execution will be necessary). (Payment to be made on area cleared)	200.000	Sqm	11.00	2200.00
5.	Cleaning and removing conservancy garbage mixed with rubbish & other filthy materials from the road side flank, drain and compound including cutting, loading, unloading to and from truck or cart by Mathor labour & removing the same to any distance.	40.000	Cum	56.62	2264.80
6.	Extra over the corresponding item of earth work for removing semi liquid mud or slushy earth by iron pans, buckets etc.	30.000	Cum	266.00	7980.00
7.	Removal of rubbish, earth etc. from the working site and disposal of the same beyond the compound, in conformity with the Municipal / Corporation Rules for such disposal, loading into truck and cleaning the site in all respect as per direction of Engineer in charge	45.000	Cum	166.00	7470.00
	per direction of Linguistics in things			Sub-Total Rs	81306.89
			Add G	ST @ 18 % R.s	
				Sub-Total Rs	
			Add	Cess @ 1% R.s	
Add Contingency @ 3% R.s.					Marine and Viv. CV
-				Total R	C 2007 C 2007
-				Say R	s. 99780.0

Estimated By

B. v. no

ASSISTANT ENGINEER
RAGHUNATHPUR MUNICIPALITY

Regnunathpur, Purulia

Approved By

€HAIRMAN RAGHUNATHPUR MUNICIPALITY

Chairman Raghungtapur Municipality Dist.- Purulia

Supplying spreading and consolidating moorum and stone dust, chilchalling Riad flanks, clearing compound premises of shurbs, removing conservacncy garbageand removing of rubish earth at Joychandi Pahar Paryatan Mela Prangan (Northern) at Ward No- 12 under Raghunathpur Municipality.

	Raghunathpur Municipanty.	Qnt.	Unit	Rate (Rs.)	Amount (Rs.)
No	Item and Description	7722	Com	868.88	27369.72
1.	Supplying spreading and consolidating moorum to a depth of 75 mm at desire density Etc	31.500	Cum	Shinewell	22102 27
2.	Supplying spreading and consolidating stone dust to a depth of 75 mm at desire density Etc	31.500	Cum	1021.98	32192.37
3.	Dressing and chilchalling Road flanks including cutting and filling with earth up to 150 mm average thickness finished with outward cross-grade of	150.000	Sqm	12.20	1830.00
4.	1 in 30. Clearing compound premises of shurbs, plants, jungles etc. by cutting and removing as directed (Specific permission of Engineer-in-Charge prior to execution will be necessary). (Payment to be made on area cleared)	200.000	Sqm	11.00	2200.00
5.	Cleaning and removing conservancy garbage mixed with rubbish & other filthy materials from the road side flank, drain and compound including cutting, loading, unloading to and from truck or cart by Mathor labour & removing the same to any distance.	40.000	Cum	56.62	2264.80
6.	Extra over the corresponding item of earth work for removing semi liquid mud or slushy earth by iron pans, buckets etc.	30.000	Cum	266.00	7980.00
7.	Removal of rubbish, earth etc. from the working site and disposal of the same beyond the compound, in conformity with the Municipal / Corporation Rules for such disposal, loading into truck and cleaning the site in all respect as	45.000	Cun	166.00	7470.00
	per direction of Engineer in charge			Sub-Total	Rs. 81306.89
-			Add	GST @ 18 % F	R.s. 14635.24
				Sub-Total	
-	TO SERVE THE RESERVE THE PRINCIPLE OF TH		Ad	d Cess @ 1%	R.s. 959.4
-			Add Conti	ngency @ 3%	R.s. 2878.2
-				Total	
Say Rs.					

Estimated By

ASSISTANT ENGINEER
RAGHUNATHPUR MUNICIPALITY

And seart Engineer segmentathpur Municipality Raghunathour, Purulia

Approved By

CHAIRMAN RAGHUNATHPUR MUNICIPALITY

Chairman Rachunot Jur Municipality

at.-Purulia